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Multiply 5 by 11.
14+5-7
Subtract 41 from 86

The distance from Sheffield to Liverpool is 125km
The distance from Sheffield to Barnsley is 26km
The distance from Sheffield to France 1025km
The distance from Sheffield to London 270km
Put these distances in order largest to smallest.

How many minutes will it be until 4 o'clock?

12+?2 =3

?+4:=-6

Sajid works in a bank. On Monday morning there was £170 in his cash
drawer. His first customer deposited £28 in at the bank. How much is in

the cash drawer now?

Chris says 15 is in the four times table. Why is he wrong?



